8. What is concurrency in DBMS ? Explain.
ST TE. | concurrency F1 ¥ ? SRAT ST |
9. Explain the growing phase of locking.
AR & sgd =0T ] HHIET |
Section—-C 2x12=24
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 12 marks.
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10. Explain the concept of DDL and DML commands

in DBMS.

AA e § Dud SR S THTE. FATES FH

STAURON 1 THUEY |
11. Explain different types of integrity constraints with

examples.

fafie JepR it eTgvsar sTened i Sl Hied e |

12. Explain the working of CASE tools with the help
of example.

IR 1 eIl § CASE Ta i shiyonell §Hemsy |
13. What is data warehouse ? Explain.

2 IIEST FN T ? GHEU
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1 mark.
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1. (1) What is Key ?
Key &1 & ?
(ii)) Write the role of DBA.
DBA st yfert fafem
(ii1) What are Triggers ?
for =+ € 2
(iv) What do you mean by Foreign Key ?
Foreign Key & 379 &1 993 © ?
(v) What is Normalization ?
Normalization 1 § ?
(vi) What is Shared Locks ?
Shared Locks &1 & ?
(vii) What is Record ?
Record &1 § ?
Section-B 4x6=24
(Short Answer Type Questions)
Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 6 marks.
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. What is Data Independence ? Explain.

31 3fetisy # § ? e wifsg)

. Explain the distinctions among the terms primary

key, candidate key and super key.
Wi FHil, SFHIGIR FHil 3R YR FHil & o= TR
T HINT

. Explain the various basic relation algebra

operations in detail.

fafsm it relational algebra wfswanstt =1 fowar
EEEEIHY

. Define Boyce-codd normal form. How does it

differ from 3NF ? Why is it considered as a
stronger form of 3NF ?

AAG-HiS THRI ®Y & GROT Hifee | 7€ 3NF §
fFg ywr fom ¥ 2 39 eifuss wifeemelt = AT ST
T2

. Discuss the advantages of SQL over old database

software packages.

WA ST HidedaX Yadhsh @t gam § SQL & wmei
T wE HI |

. Explain the basic difference between where and

having clause of select statement.
Where 31X having al 3yam™ & s JHEQT @
T IS |

CS-07/IT-07/4 (3) TC—411 7Turn Over



